N = O &

S =0la LS

SN ESIN;

I|x-|6Hx-l __rléi
EXNSHE 2 XA

SNBSS - MEAY - BES

22
J2

20
B
2

154,050 220,285
AlHI 4,000
Tl 150,050
Hy P2E 135,616 204,925
AlHI 4,000
Tl 131,616
EXSHE 2 = 60,688 66,286
HESAIXIOF &HE 35,688 41,286
201 LEH2 | 22,932 20,774
01 AtR2clbl 19,182 17,024
OXJtZAL EE22 MH 1,055
=Rl 70,000& » I * 33 * 1/2 630
-yt 25,0002 » 17JHA = 23] * 1/2 425
OMNERIt BE===8 13,847
- AHE XL
38,000 = 21,000/(42,000/1,125) * 1.1 =
1/2 11,757
orglard
38,0002 * 100= Xl * 50% * 1.1 * 1/2 1,045
- oANME
38,000& » 1002!K * 50% * 1.1 = 1/2 1,045
OXIJFEAE & M
10,0002 * 10000 * 23| * 1/2 1,000
OMNESAXI 2ESX2 MA A
702 * 30,00000 * 1.1 = 1/2 1,155
OXJIEZAL 2483 7Y 2,125
SMEX 15,0008 * 609fA = 1/2 450
- El 175,000 = 2CH = 53] = 1/2 875
=28 23 160,000& * 10JH* 1/2 800
02 =324 3,750 3,750
OMNESAXNI 2ESXNE €5 R8=
25094 *30,00001*1/2 3,750
202 Oddl 2,700 2,700
01 2UWabI 2,700 2,700
OIMNESAIXIIOb ZA GHI
20,000& » 3H = 45 2,700
203 EE=&d| 400 400




SA
X XH .
(=

chel:

XX 3t
A= 7o
S EVERS

10

S RE-E CHRAY - S sl Bl HlRE2
0 & 24
03 AIMFAARFAH 400 400 0
OZAIXIIE Al 400, 000& 400
301 YEtE4 9,656 15,612 25,956
09 922 9,656 15,612 A5,956
OPNESR=-PS AR A 9,656
== 88,0003 x3E «x12& 3,168
=AY 5,000 x222 +x3H 12 3,960
wEH 2,600 x222 «3H x 12 2,060
28 156,000 3 468
HeRg=s o 25,000 25,000 0
201 2etd 25,000 25,000 0
01 At®R2te 25,000 25,000 0
olg=g 2HHIIe2
2,500,000& * 10944 25,000
NEQUAMEA MB 12,915 18,109 A5, 194
AlHI 4,000
-4l 8,915
ANESHOIAA 4,000 4,000 0
AlHI 4,000
101 el H] 4,000 4,000 0
AlHI 4,000
10 JI2tH22 Xt 4,000 4,000 0
OXEAFCIHA JI2HMZ 2L 4,000,000& 4,000
AlHI 4,000
NHQH S5 8,915 14,109 AN5,194
201 LEH23H] 8,915 14,109 AN5,194
01 AtR2te 7,715 12,909 25,194
Otlzgdgs 2983 + 7,715
Rk 15,0003 *1102F A 1,650
Il 500 x1E5 3503 175
ZTgH EY 175,000 =20 73] 2,450
=S A EU 187,000 »2CH x4 2] 1,496
WA ElH 88,0003 +2CH 43| 704




SN XD
E: NN 7
chel: NIXPIAMHIA HZ

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
COBI ARE 80,000& *2CH*43| 640
- JMADD] S 30,000,000 *2% 600
02 232224l 1,200 1,200 0
OXNEAFDUAAAN M= 100,000& = 12& 1,200
A& 2el 3,657 1,880 1,777
PNESE= R 3,657 1,880 1,777
201 LE2AY| 1,577 1,000 577
01 At222(dl 800 1,000 A 200
OXNHS22L| 800
CANEESE ARE 2 200,000& 200
-EXOISAEA HA HE 200,000& 200
-G XNEAMH A EEE A
400,000& 13| 400
02 =322l 77 0 77
OXN=Es-d0 BAXRE M =
121,200& *2H 243
Og=2asI| =2l 4,500,000 *6%* 13| 270
Os2aes)| 2 66,000& *43] 264
203 HRFAY| 880 880 0
03 AIMFXARFAH| 880 880 0
OSHEX ZANER A 480,000& 480
OXNELF ABFZ 400,000 400
405 XHaHFESHI 1,200 0 1,200
01 T EEFSHI 1,200 0 1,200
Ozet=ely 2¢ 900,000 = 1CH 900
od X gattlet =+ 300,000 +1CH 300
MZEA AL 58,356 118,650 260,294
M= 10X 14,828 55,102 N40,274
201 LEt2AY| 14,828 55,102 AN40,274
01 At222/dl 11,990 20,050 A8,060
OM F4& Ad2 d+X 20X 1
= B4 (SF) ¢ 20,000& x507H 10,140
OMZ=A DXE HA ME 1,850




SN XD
HE: NN 7

ol MEL A (eH9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
CYE2(DX2) 413 26,0000K 1,066
- 2(DXTA) 35& =1,3000H 46
N (Le) 90& *7,8000H 702
- NME(SI1) 90& 39004 36
02 =229l 2,838 35,052 A32,214
OM=2 AHDIX fBZ 2,838
- et 2503 x7,800AH 1,950
-3l 250& *780H 195
-S| 1,750 3904 683
-3l 250& *4021 10
M=AALS AIEE2 22l 33,240 38,120 24,880
401 Al &BIZ20HYI 33,240 38,120 A4,880
01 Al&H| 33,240 38,120 A 4,880
OM=4 AlE=Z THEHI 16,440
-2 280,000 *30H A 8,400
-ASHST 15,0002 *536H 2~ 8,040
OM=2 Ald2 &KX 5,800
e HE 280,000& 1071 A& 2,800
-ASHSE 15,000& *200JH 2~ 3,000
OM=2 Ald2 FXE2=+ 11,000
e 280,000 204 2~ 5,600
-ASHSE 15,0002 *360H 2~ 5,400
EXNFEAIAE 22| 6,778 6,778 0
201 LBHEHH| 6,778 6,778 0
01 AtS2eld] 2,660 2,660 0
OXNEECH HSHZI 2285 7
2,000,000 2,000
OSt=EXNFBAIALY 21 2
66,000& * 102 660
02 =229l 4,118 4,118 0
OEXNESEHIEY ATEQNH RANE=> 4,118
S2AHD/BUR(SEHIISS HAAE)
39,258,570 *8% 3,141




SH KRB
HE: NN 7

ol MEL A (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OIS (Z202r HZEIX)
12,210,000 *8% 977
M=4AHME 2 3,510 18,650 A 15,140
201 Letd| 3,510 18,650 A 15,140
01 At 2eld] 3,510 18,650 A 15,140
ONM=2a E22 M 3,510
- A& 1,000& *1,00074 1,000
- 2 H 700& *1,5004 1,050
L 600& *1, 5004 900
= R 70,0002 8K 560
#HSYAY (N D) 18,434 15,360 3,074
ol 2HH| 4,200 3,360 840
oled 2| 4,200 3,360 840
203 HRF&H 4,200 3,360 840
04 RBEN2IYRFLYI 4,200 3,360 840
ORNM2IEYRFAI 4,200,000& 4,200
Jl2Z 4l 14,234 12,000 2,234
Jl2Z | 14,234 12,000 2,234
201 Lpt3H| 13,834 12,000 1,834
01 At 2eld] 13,834 12,000 1,834
OFMSE+=EH| 7,560,000& 7,560
OJl2gef=8 ==l 6,174,000 6,174
ONe=NEX 7SI =LSX +L
2,000& 504 100
405 XHAHFE S| 400 0 400
01 L ESHSHI 400 0 400
OZAESI 7 400,000 = 1CH 400




